AP Calc AB Name:
Differential Equations Lab Analysis Questions {

1) For the differential equation Z’V #1, suppos:a the initial condition is y(0) =10. How long
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2.) For the differential equation E{—’K #2, find —% o 2 in terms of y. What does Y. tell you -
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about the solution curves for y > 07?
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3.) For the differential equation Zy #3, use separation of variables to find the particular

solution y = y(#) with the initial condition y(_(});:_g_.
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/= 4)For the differential equation % #4, compute

in terms of y and use this justify
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5.) For the differential equation % #5, suppose that a particular solution y = y(#) passes

- through 1 poih’r (1, 2)/Use the line tangent to the graph of y = y(f) at 7 =1 to
estimate y(1.1}.

5” = 2(1-5)~%

tiaf equation % #6, algebmlcallyshow that the funcTson y(t) =

or the differ

satisfies the differential e.unLTIOﬁ

i““m‘“”“ 0 :ﬁw'wé‘o« (nghi} -
ﬂé i

= <‘z ("’ﬁ\( 'g\{ et
4‘6“5/? = |

o -y U,.:F% ‘ >
- &G Uﬂ%‘%— t

4 T
PE x#&*‘( ‘et |




